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® x+y

@ a+b=c+d

® 3-1

® 2x = 3x

@ 4+5=11
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@ x+10=x-1 © 5x+2=0

©® 3(x+1)=3x+3 @ 2(x+3)=2(x+1)

@ 4(x+1)=3x
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@ dx+5=9->4x=9+5

© 5x42=6x — 5x—6x = -2

©® 3x+5=6x—8—3x—6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

@ x-1=-x+3->x+x=3-1
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@ Tx-2x=3x

@ 3x2-4=3(x*-x)+2

®

@ 4(x-2)-x+5
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® x2-2x+1=0
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@ 3(x-1)+7=0

@D x+3=2

@ 0.2x-3=0.5x

®2=2-4{1-(2x-7)}






teiet.

a &5

2~
T

&

gle o,

(a—3)x 2] a7}

SA 4 —ax

10.



11. ofF &= x & 28] Er} 3 o] 2 7} 15 o|t}. o]H =7

D 9 ® 8 B 7 @ 6 B 5



12.

o) Ape] 2217} 6 o] 3 A 2e] S22t x Q1 A o ATt
oIt} A1) AFelo] kot Qo] Ahel o] SAbE HHRE A e} 18

o] Atk T W, 4G 48 T Ao S AL

D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6
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@D 2km @ 3km ® 4km @ 5km ® Tkm
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